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Distance/Displacement Practice: (watch video on website under integral applications, and then do the following) /Z

time interval: /2+'+L/CH 3(5}1’14 gku{“?LLcH'

1. The velocity vof an object travelling on astraight line is given by v = 2£ - t? mfsec, 0 < £ € 4.Find in the indicated
a. The distancivelled by the object. b. The displacement of the object. =~ /6 "
3

2. Anobject travelling on the x-axis has at time £ a velocity of w{¢) = cos(7/3)Z m/sec. .
a.What is its drection and speed at time ¢ =0sec? V(0)= ] My so Spred = | «/J direcdion : r‘tj/l‘f
b. What is its direction and speed at time £ = 3 sec? V('b): —| My §o =/ ,;,/3 A L‘?'H‘
c.Find the distance it has travelled from time £ = 0 sec o time £ = 3 sec. 3/ cos —%—flff‘f’a‘?' 1.2] m
d. Where is it at time ¢ = 3 sec relative to where it was at timel = 0 sec: Hirft :Find displacement.)

C3cos (Tt)dt=0m
1. The velocity v of an object travelling on a straight line is given by v :15 -5| mfsec, 0 < ¢ €8.Find in the indicated

time interval: é:g/‘{'s_/cH‘ - /7”’]

a. The distance travelled by the object. b. The displacement of the object. / 7 m

4. A body moves on the x-axis with acceleration a() = d’x/df* = 6t m/sec’, It starts at time ¢ = 0 with initial velocity

Vo = —3 m/sec. _ a5
a. Find the velocity w(f) as a function of £. ¥ (13t =3 g

b. Find the total distance s travelled by the body from time 7 = 0 sec to time # = 4 sec. f /3¢%3 /d—‘ —‘S_?oé m
c. Where is its position at time ¢ = 4 sec relative to its position at time ¢ = 0 sec? L)

- o i
5. Anobject moves on a straight line with velocity v{{) = 2¢ : km/h for £ 2 0. 2 d"sﬁ /aamq-{' - S‘ &

a.Find the distance s{¢) the object has moved as a function of time £, §o o'{ﬁLIfM IS SA m
Cb.Huw far does the Ubje: move ﬁ]rolju.hout j-ternit\,-'? . + v ; j h‘l’ 0 P $ / '[L,
=222 < §2e7d =-2e 4
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